v R
HF Eﬁ?’iﬁiﬁ’ébmﬁkiﬁ‘@ﬁkj

KDL F AR A HIRE CIRE 72 5 0o,

x+4y=39 oo @© 2x+5y=—1
(1) { (2){

3x+6y=51 e @ 2x —4y =26

Tx—4y=—49  -ee @ —3x—-5y=31
(3){ (4){

—9x+4y=55 - ® bx —by=15

BIRELE - B OEXST D> O0— R MNE [BHDYU R THRE  https://www.okadori.net

©HHDYRUI



A mEie s A MR TR <

J

3x+4y=39 e D
(1) {
3x+6y=51 ...... @
3x+4y=239
@  -) 3x+6y=51
—2y=-12
y=6

y=62OICAAT 5 &,

KDL F AR A HIRE CIRE 72 5 0o,

3x+4%x6=39
3x=15
x=5
x=5
% {
y=6
Tx—4y=—49 - @
<3>{
_9x+4y=55 ...... @
Tx—4y= —49
@ +) —9x+4y=55
—2x=0
x=-3

x=-3%OICRAT B L,
7x(—=3) —4y=—49
—4y= —28
y=7

={,

2x+5y__ ...... @
<2>{
2x—4y=26 e ©)
2x+5y=-1
@ -)2x—4y=26
Oy= —27
y=-3

y=-32OIZRAT B L.
2x+5%x (=3) = —
2x=14
x=7

_3x_5y=31 ...... @
4
( ){Bx—5y=15 ...... @

—3x—5y=31

©) -) b5x—5y=15
—8x=16
x=-2

x==-22ZOICRAT 5 &,
—3x(—=2)—-5y=31
—by=25

y=-5

=,

BIREE - B DOER ST D> O0— R NE [HEHDY R TR  https://www.okadori.net © HBHDHL R



